Y3 - Autumn - Block 1 - Step 6 - Find 110 100 more or less Answers

Question Answer

a) Annie has made the number 315

b) 100 more than Annie’s number is 415
1 c) 10 more than Annie’s number is 325

d) 1 more than Annie’s number is 316

The number represented is 492
a) 100 more than the number is 592
10 more than the number is 502
1 more than the number is 493
b) 100 less than the number is 392
10 less than the number is 482
1 less than the number is 491
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100 more than 763 is 863
865 is 100 more than 765
403 is 100 less than 503
1 less than 300 is 299

10 less than 109 is 99
962 is 10 less than 972
698 is 1 less than 699
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Tom’s number could have been 502, 412 or 403

100

10 more | 1 more [ numbsr | 1 less | 10 less | 100 less

573 | 483 | 474 | 473 | 472 | 463 | 373

s | 308 | 299 | 298 | 297 | 288 | 198

1,000| 910 | 901 {900 | 899 | =« | 800

990 is 10 less than Kim’s number.




